
Exercises 3‐1 

Problem (1): 
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(1,b)  Median= 3.73 

(1,c)  Mode= 3.74 and 3.70 

(1,d)  MidRange= (3.86 + 3.57)/ 2 = 3.715  
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Problem (13): 

Class Frequency X FX 
2.48 7.48 7 4.98 34.86 
7.49 12.49 3 9.99 29.97 
12.5 17.5 1 15 15 

17.51 22.51 7 20.01 140.07 
22.52 27.52 5 25.02 125.1 
27.53 32.53 5 30.03 150.15 

28 495.15 Total 
 

 

 

 

 

 

Exercises 3‐2 

Problem (11): 

Houston Pittsburgh 
No X X²   X X² 
1 75 5625 64 4096 
2 71 5041 54 2916 
3 64 4096 40 1600 
4 56 3136 32 1024 
5 53 2809 46 2116 
6 55 3025 44 1936 
7 47 2209 42 1764 
8 55 3025 41 1681 
9 52 2704 40 1600 

10 50 2500 40 1600 
11 50 2500 34 1156 
12 50 2500 32 1024 
13 47 2209   30 900 

Total 725 41379 539 23413 Total 
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Houston: 

sଶ ൌ ∑ ௫మ ିሺ ∑ ௫ሻమ/୬
௡ିଵ

  

 

sଶ ൌ
∑ 41379 െ ሺ ∑ 725ሻଶ/13

13 െ 1 ൌ 78.86 

 

 

ݏ ൌ √78.86 ൌ 8.88 
 

Pittsburgh: 

sଶ ൌ ∑ ௫మ ିሺ ∑ ௫ሻమ/୬
௡ିଵ

  

 

sଶ ൌ
∑ 23413 െ ሺ ∑ 539ሻଶ/13

13 െ 1 ൌ 88.77 

 

 

ݏ ൌ √88.77 ൌ 9.42 
 

Pittsburgh set of data is more variable than that of Houston. 

 

 



Problem (20): 

Class boundaries f x fx fx² 
7.5 12.5 3 10 30 300 

12.5 17.5 5 15 75 1125 
17.5 22.5 15 20 300 6000 
22.5 27.5 5 25 125 3125 
27.5 32.5 2 30 60 1800 

30 590 12350 Total 
 

 

sଶ ൌ ∑ ௙௫మ ିሺ ∑ ௙௫ሻమ/୬
௡ିଵ

  

 

sଶ ൌ
∑ 12350 െ ሺ ∑ 590ሻଶ/30

30 െ 1 ൌ 25.75 

 

 

ݏ ൌ √25.75 ൌ 5.07 
 

 

 

 

 

 

 

 



Exercises 3‐3 

Problem (11): 
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Exercises 3‐4 

Problem (3): 

 

Q1 Q3 
183 192 316 362 437 589 

  
  

MD= (316+362)/2=339 
 

 

 

 


